besam G
ASSA ABLOY'

Besam Telescopic ICU/CCU
Installation Manual

Complies with NFPA 101 Life Safety Code for Manually Operated Pedestrian Doors

US23-0965-01
issue 6-08-07

“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Table of Contents

Section 1 - Introduction ........ceceeeeeneececcneces s v 1
SECHIONM 2 = MOAEIS eueeeeerreeereeesraererneeesssssssessssssssosssssssesssssasssssasssssessnaasssssssssssssssssssasssannsasssssesssasscssess 1
Section 3 - SPACE REGUITEA .....cucereeurruenenreresesseseonnsasnsssnsncescsussosessssesnssssnenssssnssnssssssasssssssascasssssssesnsas 2
Section 4 — Fastening ReQUITEIMENtS ....coeeerrerereeercssessennecessescssessissnsssscsssssessasssnasssscsstssssssscsansss 3
Section 5 — To0IS REGUITEd ......ccoeeeerurnrerrenrentesearesnionsscoeeanocessssscssessessessssssnsssssoresssssnsosessiscnssscsensas 3
Section 6 - Floor and Rough Opening INSPection.......c.cceeceeeecncninrnniiiieisnenenisansecccsssesnscccssenees 4
Section 7 - Header and Jamb Preparation.......coeeeeneeeeinionnccccsnnsnnsnissnnnssseascssancosscssssessossasens 5
Section 8 — Hez;der and Jamb Installation .....eeececeeecrcvrneceenmiiicssennnneeeneniecssneesscssssennessssssennsescsassesanans 8
Section 9 - Base Plate Installation for FBO Trackless .cccooieieirecrrnneeiiiiiiinnneneiensanieneneeeceseee 9
Track Installation for FBO With TrackK.....ccceeiieieennnnnniienccossseninncenirecssncnsenecenss 11
G Channel Installation for Fixed Sidelite .......couivireerroineenneeeeeccecceecccenercscsecresense 13
Section 10 - Sidelite Preparation for FBO Trackless Only......ccoceveccremcncececncnincusisecncuninniinncecs 14
Section 11 - Sidelite Installation for FBO Trackless ..occociieiiiiiiinneiiicenenreeninnneeeeeaccccneeneee L5
Sidelite Installation for FBO wWith Track ....ciiieomeieeeeeeinecenecceienisiossonees 15
Sidelite Installation for Fixed SIAElite ......occcvvmrerieienicrronenruneecoeeeciecsscoseoceeiisenssssonens 18
Section 12 - Slow Leaf Preparation for FBO Trackless Only .....cccccoveeneeniinnnnnnnicecscsnacseecenee 19
Section 13 - Slow Leaf Installation for FBO TracKIess .couieeemierinneeiciieninneiccnnecnnnncceecees 20
Slow Leaf Installation for FBO with Track ...iiicininiiiiiriiiinciccccccncisenccenens 20
Slow Leaf Installation for Fixed Sidelite ........coueeeieeccenneneniinsenccencanconsceesissescsonsess 25
Section 14 - Dampener Adjustment for AL MOAELS cccceveeeemicencencininninineeescenennnnnisseensnsesaaaccnes 26
Section 15 - Fast Leaf Preparation for FBO Trackless Only ......cccoceoveieeriiiniiensnisnenincccseacee 26
Besam Telescopic ICU/CCU Issue 6-08-2007 Page A

®Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Table of Contents

Section 16 - Fast Leaf Carrier Installation for All Models.......ccoouueeeermenorienrnsecnseecnseecnccsenenns 27
Section 17 — Fast Leaf Installation for FBO Trackless .......... S .28
Fast Leaf Installation for FBO with Track .....eviiieeimmerenceneeeeinneenccnenneen, 28
F z;st Leaf Installation for Fixed Sidelite Only ........cccoevevruernnervesenserreesicreesnernnenn. 30
Section 18 — Fast Leaf Adjustment for All Models ......cuoeeemeerneeneieereeenecceecceecnecnvaenee 31
Section 19 — Glazing and Blocking for Al Models......oeeieinneieieiiceeieenceeeeceeecennenees 33
Page B Issue 6-08-2007 Besam Telescopic ICU/CCU

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 1 — Introduction

This manual contains the necessary details and instructions for the installation, maintenance and
service of the manual sliding door package, Besam Telescopic ICU/CCU.

The Besam Telescopic ICU/CCU is designed for an overhead, concealed installation between two
vertical jambs. The header supports the sliding doors and sidelites.

Section 2 — Models

Besam provides several varieties of the manual Telescopic ICU/CCU sliding door system.
Packages can be bi-parting or single-slide (left or right handed).

Before installing the system, check to see that you have been supplied the correct equipment and
that all necessary tools and hardware are on hand. Also, check the installation site for any factors
that might interfere with proper installation.

Naming Convention Exp]anatxon

ICU-T-3FBO-X o= Telescopic, Smdc Shdc PuI.I Breakout, OFW
ICU-T-6FBO-X Telescopic, Bi-Parting Pull Breakout, OFW.
ICU-T-3FSL-X Telescopic, Sivgle Shde Fised Sidelic, OFW
ICU-T-6FSL-X Telescopic, Bi-Parting Fixed Sidelite, O]

Finish is specificd by the following list:
CL~Clear Anodize; DB=Derk Bronze Anodize; SP=Special (May Consist of Wet Process or Powder Coat)

SL= Sidclitc CDO= Clear Door Opening
FMAL= Fast Moving Active Leaf  RDO= Rough Doar Opening
CLEAR  OVERALLMASONRY SLOW FAST SMAL= Slow Moving Active Leaf  OFW= Frame Width
MODEL No. DOOR OPENING  SIDELITE; ACTIVE | ACTIVE S
! OFENING o | o LEAF LEAF LEAF
nvs e B C_ . WDIH | WDDTH | WIDTH
CUT3FBOS | 3300 g 72120 181516" | 24906 | 30140 N |
ICGESID0 T ovar 84" 8412 21516" | 28916 34 147 g = [T N
e ey
ICUTIFBOS | gy3e o5 | 06127 261516" | 32916 | 381" . L;;A%é RN
KEY [risue cor | Brizr Baswe| Bawne | BaeIA 21 I s 1) SN
CLEAR  TOVERALL[ MASORRY se SLOW ST
MODELNo.  ORENING ~ WipWH | WIDFH LEAF 3
Seasrn A s £ wuym . WiDTH WIDTH
ICU-T-6FBO-10___ 49 15/16" 120 12012"  159/16" 213/16" 2613/16" |
ICU-T-6FBO-12 65 1516" 1887 144127 19916"  253/16" | 301316"
KEY 28330116 ©-1/2" | B+172"  Ble47/16"  Bl6r] 316" | BA6+S 13167 JCU-T-3FSLX, FSL Single Stiding Doors
RDO -
GLASS SIZE TABLE \
T ]
{' PACKAGE [ _ KEY | N
WIDTH | B \N
LEAF WIDTH4 778" |
I
OFHL14 | ‘
OFR-14125 T ==
| FRoTRAGKLESS| omptangrs | //IF T 3
.
Note: Charts arc for narrow stile doors with 1/4° glazing, Wider stiles will roduce the CDO 7
dimensions accordingly. Y, &
. e . SN
ICU-T-6FSL-X, FSL Bi-Partog Doors
Besam Telescopic ICU/CCU Issue 6-08-2007 Page 1

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 3 — Space Required

i -

5_,,,,,6” 152 40 7

NOTE:

Watch for lew hanging
tems that could obstruct
the opening of fhe cover,

such as exit signs and wall
conditions.
coH -
% DR
- o i
| | ; COH= Clear Opening Height
i DH= Docr Height
FFi= Finished Floor Level
EEl :
156,’11% [7.94]
Page 2 Issue 6-08-2007 Besam Telescopic ICU/CCU

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 4 — Fastening Requirements

Base door / wall material Minimum anchor / bolt requirement

Steel 3/16” (5 mm)*

Aluminum Y4” (6 mm)*

Reinforced concrete Minimum 2” (50 mm) from the underside
Wood Expansion-shell bolt, minimum (1/4” x 3 127),

Minimum 2” (50 mm) from the underside
* Besam minimum recommended requirements. Building codes may give different

specifications.
* Thinner wall profiles must be reinforced with rivnuts.

Section 5 — Tools Required

Carpenter’s level

Tape rule

Straight edge

Power drill and set of drill bits, Unibit, Hammer drill
Metric hex key set 2.5, 4, 5, and 6 millimeter

Screw driver, Torx T10, T20

Screwdriver

Chalk hine

#2 Phillips screwdriver

Center punch

Silicone sealant

Pencil

10 mm nut driver

10 mm open end wrench

Additional mounting hardware (not supplied — see fastening requirements)

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 3
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 6 — Floor and Rough Opening Inspection

6.1 Use a level (four foot minimum) to check the floor across the entire opening. You must be
aware of any high spot that may interfere with the operation of the door. In addition to
checking the floor across the opening, you should check the floor in the direction the door
will break out. The floor may not vary more than % inch from the highest to the lowest
point. If necessary, have the floor leveled before attempting to install the door system.

6.2  The width of the rough opening should be ' inch wider than the overall width of the door
system. The height of the rough opening should be % inch higher than the overall frame
height. For standard installations, the overall frame height will be 89 % inches, requiring a
rough opening height of 90 inches from the highest point of the floor.

ROUGH
- : - OPENING - . : -]
WIDTH
ROUGH
OPENING
HEIGHT
[O© e O | -
STRAIGE EICE S
o o NN\ NGUAN NG NEENENENEN SN e 1

Page 4 Issue 6-08-2007 Besam Telescopic ICU/CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 7 — Header and Jamb Preparation

7.1

72

7

7.4

75

Remove the breakout tube.

Breakout Tube Fast Carrier

Slow Carrier

Remove end caps from left side of both carriers.

Remove fast carrier from the header by first loosening wheel bracket bolts. Loosen the anti-
riser bolts until the anti-risers are released from the anti-riser bolts. Lift the carrier free of
the track and header. Make certain to retrieve the anti-risers from the header.

Wheel Bracket Anti-riser BRolt

Adjustment Wheel Bracket
Screw Bolts

Adjust the carrier height for the slow leaf to its midpoint. To adjust the height of the slow
leaf, loosen the wheel bracket bolts and anti-riser bolts. Use a 10mm wrench to turn the
adjustment screws on the wheel brackets to move the leaf up or down.

Remove five screws securing lower edge to header and remove the lower edge.

“Lower Edge
Slow Carrier

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 5
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




7.6 Adjust the setscrews in the transfer block. The gap between the setscrews and the track
should be 0.003” to 0.005” (about the same thickness as a business card). The transfer block

should travel across the track without binding or rubbing.

(—— N ST Y S 1 =1 T =0
e e e // .
i Ene 7 . STOP BLOCKS
= 7 /1
| L—"‘_ i L] 7 // s
[Tk | | .. = . =
L A=) ‘ / S e
| \W ==
= S Il € —SETSCREW —ee— e |
2 - A E}* HES = : Oi0—
- = 0 TL 0 et 2 PLACES - - 5
e ij - B fi w:; S
iy - /
Lo
i - 3 <l (J
|
|[
|
i
L

SECTION A-A

e &= =
= e e £ @ e
s O TE o) [ -
20 5 0 @ & 99 02 = 9
‘ [ 5 \
: - = 3
I Ei =5 e

T Drill V4 inch holes spaced every 16 inches along the centerline in the top of the header.
Make sure the area inside the header is clear before drilling holes. These will be needed

when installing anchor screws to secure the header to the opening.

Top View
of Header

~—16.0"—

-~ ~16.0" -

= 16 08 =

@

\

—

@

N

Issue 6-08-2007 Besam Telescopic ICU/CCU

Page 6
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




7.8 Drill three holes in each jamb tube for the screws needed to secure the jambs to the opening.
The holes should be located 3 inches from the bottom of the jamb tube, 45 inches from the
bottom of the jamb tube and 1 3/4 inches from the top of the jamb tube. Drill back holes a
maximum of % inch. Drill % inch holes through the face of the jamb.

7.9  After drilling anchor holes in the jambs, attach each jamb to the header.

1/47-20 PPH SCRLW_
5 PLACES |

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 7
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 8 — Header and Jamb Installation

8.1 Stand the header/jamb subassembly into the door opening.

8.2  To prevent the assembly from falling, install one screw (1) into the center of the header to
secure the header to the opening. Do not tighten the screw.

8.3 Check the level of the header. Always place the level along the bottom edge of the header.
Level the header by installing shims under the jamb tubes as needed.

8.4 If installing doors over an unfinished floor you must take into account the thickness of the
flooring that will be installed. Make certain to install the jamb tubes so the bottom of the
Jjamb tubes are at the height of the finished floor (see detail in figure below).

8.5 Measure the distance between the inside of the jambs at floor level. Measure the distance
between the mside of the jambs at the header. The measurements must be equal.

8.6 Make certain the jambs are plumb by placing a level along the jambs. Install shims between
the jambs and the rough opening as needed. Install and tighten lower anchor screws (4, 5)
and recheck the plumb of both jambs. Recheck level of the header and the distance between

the jamb tubes.

Install additional anchor screws (2, 3, 6, 7) and shim as needed.

9]
~J

8.8 Install shims above the header as needed to maintain level. Install all screws to secure
header to the opening.

1
g S
6 Finished
~, Floor
\\\ \ _\\ ) i
/\ \ /> Unfinished

Ll 7/{// Eloor

5 = 7 N4 Shim
\\; o
Page 8 Issue 6-08-2007 Besam Telescopic ICU/CCU

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 9 — Base Plate Installation for FBO Trackless (continued on this page)
Track Installation for FBO with Track (proceed to page 11)
G Channel Installation for Fixed Sidelite (proceed to page 12)

9 1 Snap a chalk line from the inside corners of the jambs.

/)\ / \ /
// \_\ "' \ ///
N )
/ e e
l Chalk Line Jamb Tube
; Breakout Chalk Line
Direction

9.2  Place the outside edge of trackless pivot base on the chalk line and the rear edge of the pivot
base against the jamb as shown. The chalk line takes precedent when positioning the pivot
base because the chalk line represents the line along which the door will travel.

Note: The outside edge of the base plate must be positioned exactly on the chalk line
even if the rear edge of the base plate does not rest squarely against the jamb tube.

Trackless Pivot Base

i 7
{ 75 =
7 e 7 i
. 7 \ S 7 e
/. S i
7 == | e / S
Cas e /
o o
- o “
= i e V7 7
s = =4 /) P
- o y A
o 7
\\\\ e 7 7

Chalk Line \<\\/

Jamb
93 Mark the position of the holes for the pivot base and remove pivot base.
94 Drill holes for the anchors and install anchors.

9.5  Make certain the bottom of the pivot base is at the same height as the bottom of the jamb
tube. Shim pivot base as needed.

9.6  Secure pivot base to floor with the five screws provided.

$esam Telescopic ICU/CCU Issue 6-08-2007 Page 9
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




—#12 x 1 1/2" PPH Screw

\ Pivot Washer

/\ .

9.7  Install pivot washer on pivot.

9.8  Place edge of telescopic pivot plate against the edge of the pivot base. The end of the
telescopic pivot base must line up with the end of the trackless pivot base. Mark the

position of the holes.

#12 x 1 1/2" PPH Screws

Telescopic/

Pivet Plate Ends of pivot

= ‘71\\»plate and base
must line up

99 Drill holes for the telescopic pivot plate and install anchors. The bottom of the telescopic
pivot plate must be at the same height as the bottom of the jamb tube. Shim telescoplc base

plate as needed.

9.10 Secure telescopic pivot plate to floor with the four screws provided.

9.11 Proceed to Section 10.

Page 10 Issue 6-08-2007 Besam Telescopic ICUICCU
€Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 9 — Track Installation for FBO with Track

9.12 Recessed track reqﬁires a 74" deep x 6 /2” wide cutout in the floor for grouting. The ends of
the track should rest squarely against the jambs with the outside edges of the track even with

the edge of the jamb.
Breakout
Direction .
== .
Edge ¢f track
even with edge
of jamb
~——— 6" Jamb Tube ———m= S/
l/f
} . Finished
= 1 —Floor
© -
374 % G TR 77 ¢
3/4 G T, e (. wa

9.13  If using surface mounted track, place the track between the jambs so the ends of the track

rest squarely against the jambs and the outside edges of the track are even with the edge of
the jamb.

Breakout
Direction

—————— (" Jamb Tube ———

Finished
Floor
Level

Besam Telescopic ICU/CCU Issue 6-08-2007

Page 11
.©®wwmmmB%mﬁmmw&WMMWMwmmmmW%mmme%w%wmmmwm.




9.14 If your installation includes threshold, make certain to add threshold to track before securing
track to floor.

//\\
Finish
leet——————— " Jamb Tube —————— Figéi -
// Level
-‘//
.f'/

9.15 Mark the position of the holes for the track and remove track
9.16  Drill holes for the anchors and install anchors.

9.17 Make certain the bottom of the track is at the same height as the bottom of the jamb tube.
Shim track if needed.

9.18 Secure track to floor with the screws provided. All screws must be countersunk and fully
tightened to avoid interference with pivot travel.

9.19 Proceed to Section 11.

Page 12 Issue 6-08-2007 Besam Telescopic ICU/CCU
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 9 — G Channel Installation for Fixed Sidelite

9.20  Snap a chalk line from the inside corners of the jambs.

‘\\.\7 7"7’7> i Y
Breakout i N
Direction / \
/ \ 0

- Chalk Line Jamb Tube

Chalk Line

9.21 Place the outside edge of G channel parallel to the chalk line with a 5/8” offset as shown.
Place the end of the G channel 5/16” off the jamb as shown.

~—G Channel
//

Jamb4~\

. 3/16"
5t i — \

\*Chalk Line

9.22  Mark the position of the holes for the G channel and remove G channel
9.23  Drill holes for the anchors and install anchors.

9.24 Make certain the bottom of the G channel is at the same height as the bottom of the jamb
tube. Shim if needed.

9.25 Secure G channel to floor with the screws provided. All screws must be countersunk and
fully tightened to avoid interference with pivot travel.

9.26  Check for proper leveling by measuring from the top of the track to the bottom of the
header. Check for the same result at each fastener.

9.27 Proceed to Section 11.

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 13
€Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 10 — Sidelite Preparation for FBO Trackless Only

10.1  Place trackless door roller and nut plate into the bottom of the nose rail.

10.2  Install four screws as shown. Make certain all four screws engage the nut plate and tighten.

M6 x 18 SFH Screws
/

— Trackless Door Roller

Nut Plate

Page 14 Issue 6-08-2007 Besam Telescopic ICU/CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 11 —Sidelite Installation for FBO Trackless (continued on this page)
Sidelite Installation for FBO with Track (continued on this page)
Sidelite Installation for Fixed Sidelite (continued on page 18)

11.1  Install bottom of sidelite on bottom pivot with the sidelite positioned as shown.

11.2  Press the top pivot and install the top pivot into the recess in the header.

Spring Loaded _
Top Pivot

~ = Placed in

! m{\N\ Top Pivot
I
[}
! Recess
If
|
i
I
I
I
L

_Bottom
i Pivot
e
-

11.3  Check the distance from the bottom of the sidelite to the floor. It must be 1/8= 1/16 inches.
To adjust the height of the sidelite, lift up on the sidelite (compressing the upper pivot) and
lift the bottom of the sidelite off the pivot. The height of the bottom pivot can be changed
by loosening the setscrew and then turning the pivot clockwise (to lower) or counter-
clockwise (to raise) the sidelite.

f - e
= Y & s
| ) | Sounet
o o -
= A = |
1 N |
= = s
3 P ////Pivot
= (@) e
K@) © /Qéjx L ////A\\:tiiéj Setscrew
: 7 \ = - :
Setscrew Pivot \/
Pivot for FBO Trackless Pivot for FBO with Track
11.4  Check the level of the sidelite by placing a level on the muntin bar.
Besam Telescopic ICU/CCU Issue 6-08-2007 Page 15

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




11.5 To adjust the level of the sidelite, use a 4mm hex key to loosen three socket flathead screws
in the upper pivot and adjust as needed for the door to hang level.

Socket

Flathead -

Screws e
Security
Setscrew

11.6  Slowly attempt to close the sidelite to see if the sidelite is level. The gap between the top
of the sidelite the header and must be even. Check the alignment of the ball catch between
the sidelite and the header. Make certain the ball catch will engage properly.

Check ballcatch alignment
between sidelite and header

11.7  After all adjustments are complete, tighten the security setscrew in the top pivot to lock the
pin in place.

11.8  The tension for the ball catch and ball detent are adjustable as required by local egress
codes. Tension is not to exceed 50 lbs. breakout force. To adjust, use a 10 mm wrench on
the wrench flats to turn the detent assembly. To increase the tension on the ball catch,
rotate CCW. To decrease the tension, rotate CW.

Page 16 Issue 6-08-2007 Besam Telescopic ICU/CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Wrench Flats

11.9  If the glass has not been previously installed, you will need to recheck and possibly readjust
the height, level and alignment of the sidelite after the glass is installed.

?esam Telescopic ICU/CCU Issue 6-08-2007 Page 17
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 11 — Sidelite Installation for Fixed Sidelite

11.10 Place sidelite on “G” track and tilt sidelite into place.

11.11 Line up the two connecting post in the sidelite with the two holes in the bottom of the
header.

11.12  Fasten the sidelite to the header by inserting the M6 screws through the header into the
connecting post.

11.13  Proceed to “Section 13 — Slow Leaf Installation for Fixed Sidelite”, on page 25

ME x 56
SHC SCREW I
I

CONNECTING . _
PO

Page 18 Issue 6-08-2007 Besam Telescopic ICU?CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 12 — Slow Leaf Preparation for FBO Trackless Only

12.1  Place trackless door roller and nut plate into the bottom of the nose rail.

12.2  Install four screws as shown. Make certain all four screws engage the nut plate and tighten.

///M6 x 18 SFH Screws

Trackless Door Roller

=== Nul Plate

12.3  Tum slow leaf over.

12.4  Place pivot block in bottom of slow leaf. To ensure proper alignment of the pivot block,
make certain to install the M6 washer and M6 x 14 screw before installing any of the other
screws. After fully tightening the M6 x 14 screw, install additional screws and tighten.

|
|

M6 x 25 SFH Screw-_ ?
— Ii

M6 x 16 SFH Screws -~ “%\

Pivot Block ~

=

‘M6 x 14 SCH Screw

M6 Washer

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 19
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




(continued on this page)

Section 13 — Slow Leaf Installation for FBO Trackless
Slow Leaf Installation for FBO with Track (continued on this page)
Slow Leaf Installation for Fixed Sidelite (continued on page 25)

13.1 Before installing the slow leaf, install three adjustment screws (1, 2, 3) into the PSA arm.
Make certain the shortest screw (3) is installed into the end of the PSA arm. Position the

PSA arm as shown.

/\
= =
- @ ///
- -
& s ///
2 e =
e - = /,/
e ~ _Z
- - (=
- o - ” ’
— - . e
/< @ = - =
i . = =
= \>/ = > = =
& _____ = i | 3
‘; & -
| - S
\ //c‘\, TS 2

13.2  FBO Trackless Only. Holding the slow leaf at the angle shown, place the slow leaf and the
sidelite nose-to-nose. The track inside the bottom rail of the slow leaf has a cutout to make

it easier to position the slow leaf onto the roller.

Slide the slow leaf forward until the PSA arm lines up with the slow leaf carrier

133
Issue 6-08-2007 Besam Telescopic ICU/CCU

Page 20
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




13.4 Place the end of the PSA arm into the slow leaf carrier. Continue pulling the slow leaf
forward until the PSA arm is pulled completely into the slow leaf carrier.

: i L

13.5 When the PSA arm is completely in the carrier, the back of the PSA arm should be recessed
into the carrier by approximately /2 inch.

13.6 FBO with Track Only. Loosen the setscrew (which is hidden by the weather stripping), at
the pin guide and align so the pin guide falls into the track.

__—Setscrew

-~ ——-Pin Guide

13.7  Slowly attempt to close the door to see if the door is level. Check the alignment of the ball
catch between the door and the carrier. Make certain the ball catch will engage properly.
Adjust the position of the PSA arm in the carrier if it is needed.

Check ballcatch
alignment between
slow panel and
carrier

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 21
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




13.8  Mark the position of the PSA arm in the carrier.

Mark the PSA
arm position in
the carrier

13.9  Break the slow leaf out far enough to access the first screw (1) in the PSA arm.

13.10 Make certain the rear of the PSA arm is still on the mark make in step 13.8 and tighten the
PSA arm screw (1). This screw will act as a pivot point for the PSA arm.

13.11 Install screw (4) into the adjustment block (5) and install adjustment block under the PSA
arm as shown.

13.12 Adjust the vertical adjustment screw (4) to lift the lead edge of the door. Check the level of
the door and check the alignment between the ball catch and the ball catch receiver.

13.13 FBO Trackless only. It is undesirable to have the slow panel dangling loosely over the
pivot pin. Adjust the PSA arm so the pivot block applies some weight onto the pivot pin

13.14 After completing the adjustment, tighten screws (2 and 3).

13.15 Check the level of the slow leaf by placing a level on the muntin bar. Also, check the level
from the slow leaf to the sidelite by placing a level across the muntin bars.

Page 22 Issue 6-08-2007 Besam Telescopic ICU/CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




13.16 Check the vertical alignment of overlapping rails.

13.17 Check the distance from the bottom of the slow leaf to the floor. Must be 1/8=1/16 inches.

13.18 To adjust the height of the slow leaf, loosen the wheel bracket bolts and anti-riser bolts. Use
a 10mm wrench to turn the adjustment screws on the wheel brackets to move the leaf up or
down.

Anti—r;ser Bolt

, ‘ - - VRN
e “’// EE e reee
9 5 gy C ey & 2 -
Adjustment Wheel Bracket
Screw Bolts

13.19 Recheck the level from the slow leaf to the sidelite by placing a level between the muntin
bars. Check the vertical alignment of overlapping rails.

13.20 To adjust the breakout tube, first slide the slow leaf to the fully open position and attempt to
break it out. If the endcap interferes when breaking out the slow moving leaf, loosen screws
and adjust the endcap. There should be a gap of approximately 1/8 inch between the endcap
and the nose rail of the slow moving leaf. After adjusting the endcap, it may be necessary to
trim the end of the breakout tube for a correct fit.

Phillips Endcap
Screws

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 23
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




13.21 The tension for the ball catch and ball detent are adjustable as required by local egress
codes. Tension is not to exceed 50 Ibs. breakout force. To adjust, use a 10 mm wrench on
the wrench flats to turn the detent assembly. To increase the tension on the ball catch,
rotate CCW. To decrease the tension, rotate CW.

Wrench Flats

13.22 If the glass has not been previously installed, you will need to recheck and possibly readjust
the height, level and alignment of the slow leaf after the glass is installed.

Page 24 Issue 6-08-2007 Besam Telescopic Icu/CcCU
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 13 — Slow Leaf Installation for Fixed Sidelite

13.23 Position the slow leaf so the bottom roller guide wheels can be inserted into the cutout in the
bottom horizontal rail of the sidelite.

13.24 Position the slow panel under the carrier so the bolt holes in the slow panel line up with the
bolt holes in the carrier as shown.

13.25 Install one bolt at each end of the carrier to secure the slow leaf to the carrier.
13.26 Make certain the lead edge of the slow leaf is flush with the lead edge of the carrier.
13.27 Adjust the height of the carriers to the mid-point and tighten the carriage wheel screws.

13.28 If the glass has not been previously installed, you will need to recheck and possibly readjust
the height, level and alignment of the active leaf after the glass is installed.

@esam Telescopic ICU/CCU Issue 6-08-2007 Page 25
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 14 — Dampener Adjustment for All Models

14.1  After all adjustments are complete, slowly slide the slow panel to the full open position and
make certain that the slow panel is stopped by the dampener. The dampener is in place to
prevent a hard collision between the pivot block and the base plate.

14.2

If needed, loosen the three hex screws securing the dampener and adjust the position of the

dampener as needed so it will stop the slow panel just before the pivot block engages the
pins on the pivot base.

I ———

Section 15 — Fast Leaf Preparation for FBO Trackless Only

15.1  Place pivot block in bottom of door. To ensure proper alignment of the pivot Block, make

certain to install the M6 washer and M6 x 14 screw before installing any of the other screws.
After fully tightening the M6 x 14 screw, install additional screws and tighten.

M6 x 25 SFH Screw

\f k
M6 x 16 SFH Screws - \\‘:%‘/1

\€¢

Y
Pivot Block-.__ (//?
|

-

\M6 x 14 SCH Screw

M6 Washer

Page 26 Issue 6-08-2007 Besam Telescopic ICU/CCU
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 16 — Fast Leaf Carrier Installation for All Models

16.1 Place fast leaf carrier so rollers are squarely on the track.

Roller

= Track

Anti-riser

16.2  Place anti-risers through window of the carrier and position in front of the anti-riser bolts.
Make certain the anti-risers are positioned so the rollers are firmly against the track (as
shown in the figure above) and tighten the anti-riser bolts.

Place anti?riser ‘Anti-riser
through window bolt

16.3  To adjust the carrier, loosen the wheel brackets bolts and anti-riser bolts. Use a 10mm
wrench to turn the adjustment screws on the wheel brackets to move the carrier up or down.

Anti-riser Bolt
=

E o a 0 oot e e o
A A L ] S |

Bl = e

L / -

/
Adjustment Wheel Bracket
Screw Bolts
Besam Telescopic ICU/CCU Issue 6-08-2007 Page 27

“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 17 — Fast Leaf Installation for FBO with Track (continued on this page)
Section 17 — Fast Leaf Installation for Fixed Sidelite (continued on page 30)

Section 17 — Fast Leaf Installation for FBO Trackless (continued on this page) Q

17.1  Install three adjustment screws (1, 2, 3) into the PSA arm. Make certain the shortest screw
(3) 1s installed into the end of the PSA arm. Position the PSA arm of the fast leaf as shown.

\\
© //
//,/ /L/ o / /
- e
e o
// /// //
i - - =
o - e |
/’ & = Sl
/<\ & /// //*‘/ SN
Z - 2
< - E ¢
[ T &
| . S
k e 2 /D) \\\
™ T S 2
; T
-
| <
| -~

17.2  FBO Trackless Only. Slide the slow leaf half closed. Break out the slow leaf (the breakout
tube should have been removed in Section 7), approximately 20 degrees.

17.3  FBO Trackless Only. Holding the fast leaf at the angle shown, place the fast leaf and the
slow leaf nose-to-nose. The track inside the bottom rail of the fast leaf has a cutout to make
1t easier to position the fast leaf onto the roller.

Page 28 Issue 6-08-2007 Besam Telescopic lCU/CCU
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




17.4  Slide the fast leaf forward until the PSA arm lines up with the fast leaf carrier.

17.5  Place the end of the PSA arm into the fast leaf carrier. Continue pulling the fast leaf forward
until the PSA arm is pulled completely into the fast leaf carrier.

17.6  When the PSA arm is completely in the carrier, the back of the PSA arm should be recessed
into the carrier by approximately % inch.

17.7  FBO with Track Only. Loosen the setscrew (which is hidden by the weather stripping), at
the pin guide and align so the pin guide falls into the track.

__—Setscrew

2o Pin Guide

17.8  Proceed to “Section 18 - Fast Leaf Adjustment”.

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 29
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 17 — Fast Leaf Installation for Fixed Sidelite Only Q

17.9  Position the fast leaf so the bottom roller guide wheels can be inserted into the cutout in the
bottom horizontal rail of the slow leaf.

17.10 Slide the fast leaf forward until the PSA arm lines up with the fast leaf carrier.

17.11 Place the end of the PSA arm into the fast leaf carrier. Continue pulling the fast leaf forward
unti] the PSA arm is pulled completely into the fast leaf carrier.

17.12 When the PSA arm is completely in the carrier, the back of the PSA arm should be recessed
into the carrier by approximately 2 inch.

17.13 To adjust the height of the fast leaf, loosen the wheel bracket bolts and anti-riser bolts. Use
a 10mm wrench to turn the adjustment screws on the wheel brackets to move the leaf up or
down. Adjust the fast leaf up so the roller guide is inside the slow moving leaf and moves
freely without binding on the floor or the bottom of the door.

Anti-riser Bolt

B o . B cei x
,Q ij‘ @O ’@'/@\
/
: -~ -
Adjustment Wheel Bracket
Screw Bolts
17.14 Proceed to “Section 18 - Fast Leaf Adjustment”.
Page 30 Issue 6-08-2007 Besam Telescopic ICU/CCU

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 18 — Fast Leaf Adjustment for All Models

18.1  Slowly attempt to close the door to see if the door is level. Check the alignment of the ball
catch between the fast panel and the carrier. Make certain the ball catch will engage
properly. Adjust the position of the PSA arm in the carrier if it is needed.

Check ballcatch alignment
between fast panel and carrier

18.2  Mark the position of the PSA arm in the carrier.

Mark the PSA
arm position in
the carrier

18.3  Break the fast panel out enough to access the first screw (1) in the PSA arm.

18.4  Make certain the rear of the PSA arm is still on the mark made in step 18.2 and tighten the
PSA arm screw (1). This screw will act as a pivot point for the PSA arm.

18.5 Install screw (4) into the adjustment block (5) and install adjustment block under the PSA
arm as shown.

Besam Telescopic ICU/CCU Issue 6-08-2007 Page 31
“Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




18.6  Adjust the vertical adjustment screw (4) to lift the lead edge of the door. Check the level of 0
the door as shown and check the alignment between the ball catch and the ball catch Q

receiver.
18.7  After completing the adjustment, tighten screws (2 and 3).
18.8  Check the level of the fast leaf by placing a level on the muntin bar.
18.9  Check the distance from the bottom of the fast leaf to the floor. Must be 1/8<+ 1/16 inches.

18.10 To adjust the height of the fast leaf, loosen the wheel bracket bolts and anti-riser bolts. Use
a 10mm wrench to turn the adjustment screws on the wheel brackets to move the leaf up or
down.

Anti-riser Bolt
Z

- - ‘ L
L Gaeae ] GE @ e j
e ‘7\{;/' L i
R e P e
e e o : .
| ’ |
. = ;-
>
/'/
Adjustment Wheel Bracket
Screw Bolts

18.11 The tension for the ball catch and ball detent are adjustable as required by local egress
codes. Tension is not to exceed 50 Ibs. breakout force. To adjust, use a 10 mm wrench on
the wrench flats to turn the detent assembly. To increase the tension on the ball catch,
rotate CCW. To decrease the tension, rotate CW.

Wrench Flats

18.12 If the glass has not been previously installed, you will need to recheck and possibly readjust
the height, level and alignment of the fast leaf after the glass is installed.

Page 32 Issue 6-08-2007 Besam Telescopic ICU/CCU
©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Section 19 — Glazing and Blocking for All Models

it door is nol sguare,
increagse the size of the
block here tc raise the door

~— 6.0 [152.40]

NOTE: Blocking is i v‘
reguired on all
ICU/CCU sidelites.

Vet e )
6.0
152.40] ‘,
e T s
|
.. 58 15040
¢
PIVOT
= e /x
- o
— -
INCORRECT
Besam Telescopic ICU/CCU Issue 6-08-2007 Page 33

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




Appendix A — Parts Identification

e

o=t Sz TN -
L v e

g

e
= q )
S =

=
< Sy - 5
Gpitr e 55 =i
ICU HEADER ICU COVER ICU CARRIER
US01-0585-LLXX US01-0586—-LLXX USC1-0587~LLXX

it b

DOOR STCP S
US05-0600-04 LH (SHOWN) FULL OPEN DAMPENING DEVICE
US05-0600~05 RH (OPPGSITE) US15-0553-01 L+ (SHOWN)
BUMPER US15-0553-02" RH (GPPOSITE)

US20-0600-01

D
N - / \\\}{
= |
< A < - .

TRACKLESS PIVOT BAR
US03-0691-01 RH SHOWN
US02-0691-02 LH OPPOSITE

T
-
-
Q P
oy
:‘\? O o
-
€ i Y 4
]

TRACKLESS DOGR FOOT
US15-0568-01

TRACKLESS PIVOT BASC
USC5-0563-01 LH (SHOWN)
US05-0569~02 RH (OPFOSITE)

ROLLER MCUNTING BRACKET
UsS05-0563-01

®

N
—A

3 [
oy <
ICU TOP RAIL
USO01-0567-LLXX

i
|
1
i
N
4

L

FSL CONNECTING POST
US05-0552-01

ENDCAP

US03-0564-01 LH (SHOW
US03-0564-02 RH (OPPOS

i
O

‘1
1
5
DHD TRACKLESS GUIBE
UsS01-0577~LLXX

*NOTE: HARDWARE FOR ASSEMB
AND KITS NOT SHOWN

Page 34

Issue 6-08-2007

Besam Telescopic ICU/CCU

©Copyright 2007 Besam Entrance Solutions. May not be reprinted or reproduced without permission.




LOWER EDGE
US01-0560—-LLXX

@ ¢

Appendix A — Parts Identification

2 )

COVER EXTENSION

TRACK EASE
US01-0588—-LLXX

US@1-C561—LLXX

= 19a. SUDE CARRAIGE
TZILESCOPIC COVER Geiiel)
USQ1-0558~LLXX S_DE CARRAIGE ASSEMBLY S2e00rd g0l
US05-0744~01 19b. #°0-24xi  SSS w/NYLON TIP
$09-0734-08
19c. #10-24 SQUARE NUT
US09-0734-07
QQ\ 7
e NS 3
7 : \\ \\\\,\ 20a e '/ \~
o e N £ e {22a;
20b}) \7/[ ! Lo = ;
N = U < 27a T
. = — . N
| =] 5 ~ S ’< /Q// v
B = By ’ s
\k\\; F //57/ = ; el | \\\7(} —
o ! & 1
@ 20 - @
o . = e J 226!
oA e e 22 N
SR 00y 1\21 o \// N
N o
‘ - = - 22.  STOP BLOCK
20a. 553252%%?3‘:“' 27a. 3ELT CLAMP BRACKET US04-0749-01
e US04-0734-03 22a. BUMPER
shoo e oo 2°b. #10-22x3/8"w/NYLON TP US20-0600-01
US09-6734-06 22b. M6x12 SCH SCREW

. #10 STAR WASHER
UsS09-0745-01

. #10-24x1/2" SFH
US09-0306-01

50-09-2286

>
S g
S o
S L £4D)
N AN
<g§:<§§\f; a
) -
24. TENS ONER BRACKET
US03-0734~11 /@\@W
TELESCOFIC PIVOT FLATE 2 55605.%38;_25““ N A
USCs--0566-01 245. M4x10 PPH SCREW
US09-0598-07
24c. M4 STAR WASHER
US09-0256-01
Besam Telescopic ICU/CCU Issue 6-08-2007 Page 35

©Copyright 2007 Besam Entrance Solutions.

May not be reprinted or reproduced without permission.







